

$$A = \begin{pmatrix} 1 & a & 1 \\ a & 1 & 1 \\ 1 & (a-1) & 1 \\ 1 & a & 1 \\ a & 1 & 1 \end{pmatrix} \quad \vec{b} = \begin{pmatrix} 1 \\ a^2 \\ 1 \end{pmatrix}$$

$$\det(A) = (1 + a(a-1) + a) - (1 + (a-1) + a^2)$$

$$= 1$$

$$-a$$

$$=$$

$$= \underline{\underline{1-a}}$$

$$\vec{x} = \begin{pmatrix} \frac{1}{1-a} \begin{vmatrix} 1 & a & 1 \\ a & 1 & 1 \\ 1 & (a-1) & 1 \end{vmatrix} \\ \frac{1}{1-a} \begin{vmatrix} 1 & a & 1 \\ 1 & (a-1) & 1 \\ 1 & a & 1 \end{vmatrix} \\ \frac{1}{1-a} \begin{vmatrix} 1 & a & 1 \\ 1 & a & 1 \\ a & 1 & 1 \end{vmatrix} \end{pmatrix} = \begin{pmatrix} \frac{1}{1-a}(1-a^2) \\ 0 \\ \frac{1}{1-a}(a^2-a) \end{pmatrix} = \begin{pmatrix} 1+a \\ 0 \\ -a \end{pmatrix}$$

$$\begin{vmatrix} 1 & a & 1 \\ a^2 & 1 & 1 \\ 1 & (a-1) & 1 \\ 1 & a & 1 \\ a^2 & 1 & 1 \end{vmatrix} =$$

$$\begin{vmatrix} 1 & a & 1 \\ a & 1 & a^2 \\ 1 & (a-1) & 1 \\ 1 & a & 1 \\ a & 1 & a^2 \end{vmatrix} =$$

$$(1 + a^3 - a^2 + a) - (1 + a - 1 + a^3)$$

$$1 - a^2$$

$$1 - a^2$$

$$\begin{vmatrix} 1 & 1 & 1 \\ a & a^2 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \\ a & a^2 & 1 \end{vmatrix}$$

$$= (a^2 + 1 + a) - (a^2 + a + 1) = 0$$

$$a \neq 1$$

$$\begin{vmatrix} 1-a^2 \\ 1-a \end{vmatrix}$$

$$\begin{pmatrix} 0 \\ \frac{a^2 - a}{1 - a} \end{pmatrix}$$

$$a=7$$

$$\begin{pmatrix} 1 & 1 & 1 & | & 1 \\ 1 & 2 & 1 & | & 1 \\ 1 & 0 & 1 & | & 1 \end{pmatrix} \begin{matrix} R_1 \\ R_2 \\ R_3 \end{matrix} \sim \begin{pmatrix} 1 & 1 & 1 & | & 1 \\ 0 & 0 & 0 & | & 0 \\ 0 & -1 & 0 & | & 0 \end{pmatrix} \begin{matrix} R_1 \\ R_2 - R_1 \\ R_3 - R_1 \end{matrix} \sim$$

$$\sim \begin{pmatrix} 1 & 1 & 1 & | & 1 \\ 0 & -1 & 0 & | & 0 \\ 0 & 0 & 0 & | & 0 \end{pmatrix} \quad \begin{matrix} x_3 = + \\ x_2 = 0 \\ x_1 = 0 + x_3 \sim \end{matrix}$$

$$n \leq 1 \quad \mathbb{R}^7$$

$$A = \begin{pmatrix} 2 & 2 \\ 3 & 3 \end{pmatrix}$$

$$B = \begin{pmatrix} 4 & 3 \\ 6 & 1 \end{pmatrix}$$

Is on regularni? - det $\neq 0$?

$$\det(A) = (2 \cdot 3) - (2 \cdot 3) = 0$$

A - neni!

$$\det(B) = 3 \cdot 6 - 4 = 0$$

B - neni!

$$A \cdot x^T = B$$

$$\left(\begin{array}{cc|cc} 2 & 2 & 4 & 3 \\ 3 & 3 & 6 & 1 \end{array} \right)$$

$$(2 \ 2) \quad (3 \ 3) \quad (4 \ 3)$$

$$\begin{pmatrix} 2 & 2 \\ 3 & 3 \end{pmatrix} \cdot \begin{pmatrix} a & b \\ c & d \end{pmatrix} = \begin{pmatrix} 4 & 3 \\ 6 & 7 \end{pmatrix}$$

$$\left(\begin{array}{cc|cc} 2a+2c & 2b+2d & 4 & 3 \\ 3a+3c & 3b+3d & 6 & 7 \end{array} \right)$$

$$2a+2c=4$$

$$2b+2d=3$$

$$3a+3c=6$$

$$3b+3d=7$$

$\mathbb{Z}_7$

$$\left(\begin{array}{cccc|c} 2 & 0 & 2 & 0 & 4 \\ 0 & 2 & 0 & 2 & 3 \\ 3 & 0 & 3 & 0 & 6 \\ 0 & 3 & 0 & 3 & 7 \end{array} \right) \sim \left(\begin{array}{cccc|c} 1 & 0 & 1 & 0 & 2 \\ 0 & 1 & 0 & 1 & 5 \\ 1 & 0 & 1 & 0 & 2 \\ 0 & 3 & 0 & 3 & 7 \end{array} \right) \begin{array}{l} 4R_1 \\ 4R_2 \\ R_3 - R_1 \\ R_4 \end{array}$$

$$\sim \left(\begin{array}{cccc|c} 1 & 0 & 1 & 0 & 2 \\ 0 & 1 & 0 & 1 & 5 \\ 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 \end{array} \right) \begin{array}{l} R_1 \\ R_2 \\ R_3 \sim R_1 \\ R_4 - 3R_2 \end{array}$$

$$P = \begin{pmatrix} 2 \\ 5 \\ 0 \\ 0 \end{pmatrix} \quad \begin{pmatrix} 2 \\ 5 \\ 0 \\ 0 \end{pmatrix} \quad \begin{pmatrix} 2 \\ 5 \\ 0 \\ 0 \end{pmatrix}$$

$$\left(\begin{array}{cccc|c} 2 & 0 & 2 & 0 & 0 \\ 0 & 2 & 0 & 2 & 0 \\ 3 & 0 & 3 & 0 & 0 \\ 0 & 3 & 0 & 3 & 0 \end{array} \right) \sim \left(\begin{array}{cccc|c} 1 & 0 & 1 & 0 & 0 \\ 0 & 1 & 0 & 1 & 0 \\ 1 & 0 & 1 & 0 & 0 \\ 0 & 3 & 0 & 3 & 0 \end{array} \right) \begin{array}{l} 4R_1 \\ 4R_2 \\ R_3 - R_1 \\ R_4 \end{array}$$

$$\begin{pmatrix} 0 & 3 & 0 & 3 & 0 \end{pmatrix}$$

$$\begin{pmatrix} 0 & 1 & 0 & 1 & 0 \end{pmatrix} \quad R_4 - R_2$$

$$\begin{pmatrix} a & b & c & d & | & 0 \\ 1 & 0 & 1 & 0 & | & 0 \\ 0 & 1 & 0 & 1 & | & 0 \\ 0 & 0 & 0 & 0 & | & 0 \\ 0 & 0 & 0 & 0 & | & 0 \end{pmatrix}$$

$$c=1, d=0$$

$$a+c=0$$

$$b+d=0$$

$$\ker(A) = \text{span} \left(\begin{pmatrix} -1 \\ 0 \\ 1 \\ 0 \end{pmatrix}, \begin{pmatrix} 0 \\ -1 \\ 0 \\ 1 \end{pmatrix} \right) \quad \begin{matrix} a = -c \\ b = -d \end{matrix}$$

$$\text{Lösung: } \begin{pmatrix} 2 \\ 5 \\ 0 \\ 0 \end{pmatrix} \in \text{span} \left(\begin{pmatrix} -1 \\ 0 \\ 1 \\ 0 \end{pmatrix}, \begin{pmatrix} 0 \\ -1 \\ 0 \\ 1 \end{pmatrix} \right)$$

$$\begin{pmatrix} 2 & 5 \\ 0 & 0 \end{pmatrix}^T =$$

②

$$\underbrace{\begin{pmatrix} 1 & 1 & 2 & 3 & | & 0 \\ 3 & 4 & 1 & 1 & | & 7 \\ 2 & 0 & 2 & 4 & | & -2 \\ 2 & 5 & 1 & 0 & | & 9 \end{pmatrix}}_A \sim \begin{pmatrix} 1 & 1 & 2 & 3 & | & 0 \\ 0 & 1 & -5 & -8 & | & 7 \\ 0 & 1 & 1 & 1 & | & 7 \\ 0 & 1 & -1 & -2 & | & 3 \end{pmatrix} \quad \begin{matrix} R_1 \\ R_2 - 3R_1 \\ R_3 - 2R_1 \\ R_4 - 2R_1 \end{matrix}$$

$$\sim \left(\begin{array}{cccc|c} 1 & 1 & 2 & 3 & 0 \\ 0 & 1 & 1 & 1 & 1 \\ 0 & 0 & 4 & 7 & 6 \\ 0 & 0 & 2 & 3 & -2 \end{array} \right) \begin{array}{l} R_1 \\ R_3 \\ R_2 - R_3 \\ R_4 - R_3 \end{array}$$

$$\sim \left(\begin{array}{cccc|c} 1 & 1 & 2 & 3 & 0 \\ 0 & 1 & 1 & 1 & 1 \\ 0 & 0 & 2 & 3 & -2 \\ 0 & 0 & 0 & 1 & 10 \end{array} \right)$$

$$\begin{array}{cccc|c} a & b & c & d & e \\ 1 & 1 & 2 & 3 & 0 \\ 0 & 1 & -5 & -8 & 7 \\ 0 & 0 & -2 & -3 & 2 \\ 0 & 0 & 0 & 0 & 0 \end{array}$$

$$\Rightarrow \text{rank}(A) = 3$$

$$\text{rank}(A|\vec{b}) = 3$$

$$d > 0$$

$$-2c - 3d = 2$$

$$-2c = 2$$

$$c = -1$$

$$b = 2$$

$$a =$$

$$= 0$$

$$P = \begin{pmatrix} 0 \\ 2 \\ -1 \\ 0 \end{pmatrix}$$

$$\left(\begin{array}{cccc|c} 1 & 1 & 2 & 3 & 0 \\ 3 & 4 & 1 & 1 & 0 \\ 2 & 0 & 2 & 4 & 0 \\ 2 & 5 & 1 & 0 & 0 \end{array} \right) \begin{array}{l} R_1 \\ R_2 \\ R_3 \\ R_4 \end{array}$$

$$\begin{pmatrix} 1 & 0 & 0 & 0 \\ 0 & 1 & 1 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{pmatrix}$$

$$\left(\begin{array}{cccc|c} 1 & 1 & 2 & 3 & 0 \\ 0 & 1 & -5 & -8 & 0 \\ 2 & 0 & 2 & 4 & 0 \end{array} \right) \begin{array}{l} R_1 \\ R_2 - 3R_1 \\ R_3 \end{array}$$

$$\left(\begin{array}{cccc|c} 2 & 0 & 2 & 1 & 0 \\ 0 & 5 & -1 & -4 & 0 \end{array} \right) \begin{array}{l} R_3 \\ R_4 - R_3 \end{array}$$

$$\left(\begin{array}{cccc|c} 1 & 1 & 2 & 3 & 0 \\ 0 & 1 & -5 & -8 & 0 \\ 0 & -2 & -2 & -2 & 0 \\ 0 & 5 & -1 & -4 & 0 \end{array} \right) \begin{array}{l} \textcircled{1.2} \\ \textcircled{F} \\ \textcircled{1.2} \\ \textcircled{F} \end{array}$$

$$\left(\begin{array}{cccc|c} 1 & 1 & 2 & 3 & 0 \\ 0 & 1 & -5 & -8 & 0 \\ 0 & 0 & -12 & -18 & 0 \\ 0 & 5 & -1 & -4 & 0 \end{array} \right) \begin{array}{l} (5) \\ \\ \textcircled{F} \end{array}$$

$$\left(\begin{array}{cccc|c} 1 & 1 & 2 & 3 & 0 \\ 0 & 1 & -5 & -8 & 0 \\ 0 & 0 & -12 & -18 & 0 \\ 0 & 0 & 26 & 36 & 0 \end{array} \right) \begin{array}{l} \\ \\ \\ \textcircled{F} \end{array}$$

JUR as

~~ELER~~

12

$$\left(\begin{array}{cccc|c} 1 & 1 & 2 & 3 & 0 \\ 0 & 1 & -5 & -8 & 0 \end{array} \right)$$

$$\begin{pmatrix} 0 & 0 & 3 & 1 & 2 & 5 & 6 & 8 \\ 0 & 0 & 3 & 1 & 2 & 5 & 3 & 4 \end{pmatrix} \begin{matrix} 0 \\ 0 \end{matrix} \quad \uparrow \times$$

$$\begin{pmatrix} 1 & 1 & 2 & 5 \\ 0 & 1 & 5 & 9 \\ 0 & 0 & -3 & 12 & -4 & 6 & 8 \\ 0 & 0 & 0 & 3 & 9 \end{pmatrix} \begin{matrix} 0 \\ 0 \\ 0 \\ 0 \end{matrix} \quad \begin{matrix} \\ \\ 26 \\ -59 \end{matrix}$$

$$\begin{vmatrix} 5 & 1 & 0 & 3 \\ 2 & 3 & 3 & 3 \\ 4 & 0 & 0 & 6 \\ 4 & 2 & 0 & 6 \end{vmatrix} = - \begin{vmatrix} 4 & 0 & 0 & 6 \\ 2 & 3 & 3 & 3 \\ 5 & 1 & 0 & 3 \\ 4 & 2 & 0 & 6 \end{vmatrix}$$

$$\begin{vmatrix} 5 & 1 & 3 \\ 4 & 0 & 6 \\ 4 & 2 & 6 \\ 5 & 1 & 3 \\ 4 & 0 & 6 \end{vmatrix}$$

$$= -4 \cdot \begin{vmatrix} 3 & 3 & 3 \\ 2 & 0 & 3 \\ 2 & 0 & 6 \\ 3 & 3 & 3 \\ 2 & 0 & 3 \end{vmatrix} - 6 \begin{vmatrix} 2 & 3 & 3 \\ 5 & 1 & 0 \\ 4 & 2 & 0 \\ 2 & 3 & 3 \\ 5 & 1 & 0 \end{vmatrix} = 20 - 38 = -18$$

$$24 - 60$$

$$-36 = -1$$

$$(18 + 3 + 18) - (2 + 30 + 12)$$

$$19 + 18 - 30 - 12$$

$$7 - 12 = -5$$

5/

$$\begin{vmatrix} 0 & 1 & 5 & 3 \\ 3 & 3 & 2 & 3 \\ 0 & 0 & 4 & 6 \\ 0 & 2 & 4 & 6 \end{vmatrix} =$$

$$(2 + 30 + 12) - (12 + 4 + 15)$$

$$44 - 37 = 13$$

$$\begin{array}{r} 13 \\ -6 \\ \hline 78 \end{array}$$

$$3. \begin{vmatrix} 1 & 5 & 3 \\ 0 & 4 & 6 \\ 2 & 4 & 6 \\ 1 & 5 & 3 \\ 0 & 4 & 0 \end{vmatrix} =$$

$$\overline{24} - \overline{24} - \overline{24} = -24$$

$$\begin{array}{r} 24 \\ -3 \\ \hline 82 \end{array} = -82$$

$$2 - 5$$

je regulárny!

$$\left(\begin{array}{ccc|c} a & -1 & 3 & 0 \\ -1 & 1 & 1 & 0 \\ 0 & a & 1 & 1 \end{array} \right)$$

$$a = -1$$

$$\left(\begin{array}{ccc|c} -1 & -1 & 3 & 0 \\ -1 & 1 & 1 & 0 \\ 0 & -1 & 1 & 1 \end{array} \right) \sim \left(\begin{array}{ccc|c} -1 & -1 & 3 & 0 \\ 0 & 2 & -2 & 0 \\ 0 & -1 & 1 & 1 \end{array} \right) R_2 \leftrightarrow R_3$$

$$\sim \begin{array}{c} A \\ \left(\begin{array}{ccc|c} -1 & -1 & 3 & 0 \\ 0 & 1 & -1 & 0 \end{array} \right) \end{array}$$

$$\left(\begin{array}{ccc|c} 0 & 0 & 0 & 1 \end{array} \right) R_3 + R_2$$

$$\left. \begin{array}{l} \text{rank}(A) = 2 \\ \text{rank}(A|\vec{b}) = 3 \end{array} \right\} \neq$$

$\Rightarrow$ pro $a = -1$ to nemá řešení

$$p=0 \quad R = \{-1\}$$

Cramerovo pravidlo

$$\begin{vmatrix} a & -1 & 3 \\ -1 & 1 & 1 \\ 0 & a & 1 \\ a & -1 & 3 \\ -1 & 1 & 1 \end{vmatrix}$$

$$a - 3a - a^2 - 1$$

$$-2a - a^2 - 1$$

$$-a^2 - 2a - 1$$

$$-(a^2 + 2a + 1) = -(a+1)^2$$

$$\left(\begin{array}{ccc|c} a & -1 & 3 & 0 \\ -1 & 1 & 1 & 0 \\ 0 & a & 1 & 1 \end{array} \right)$$

$$\frac{1}{-(a+1)^2} \begin{vmatrix} 0 & -1 & 3 \\ -1 & 1 & 1 \\ 0 & a & 1 \end{vmatrix} = -1 - 3 = -4 \Rightarrow \left| \frac{4}{(a+1)^2} \right|$$

$$\frac{- (a-1)^2}{1} \left| \begin{array}{cc|c} \cancel{1} & \cancel{0} & \cancel{1} \\ \cancel{0} & \cancel{1} & \cancel{1} \\ \cancel{a} & \cancel{0} & \cancel{3} \\ \hline \cancel{1} & \cancel{0} & \cancel{1} \end{array} \right| = -3 - a \Rightarrow \frac{a+3}{(a+1)^2}$$

$$\frac{1}{- (a-1)^2} \left| \begin{array}{cc|c} \cancel{a} & \cancel{1} & \cancel{0} \\ \cancel{1} & \cancel{1} & \cancel{0} \\ \cancel{0} & \cancel{a} & \cancel{2} \\ \hline \cancel{a} & \cancel{1} & \cancel{0} \\ \cancel{1} & \cancel{1} & \cancel{0} \end{array} \right| = a-1$$

$$\frac{1-a}{(a+1)^2}$$

$$A = \begin{pmatrix} 1 & 4 & 0 \\ 1 & 0 & 1 \\ -1 & 1 & -1 \end{pmatrix} \quad \begin{matrix} 1 & 4 & 0 \\ 1 & 0 & 1 \\ -1 & 1 & -1 \end{matrix}$$

$$-1 + 4 - 4 = -1$$

$$\det(A) = -1$$

$\text{adj}(A) = \text{trans. matrix alg. doplněn}$

$$A = \begin{pmatrix} 1 & 4 & 0 \\ 1 & 0 & 1 \\ -1 & 1 & -1 \end{pmatrix}$$

$$\text{Adj}(A) = \begin{pmatrix} \begin{vmatrix} 0 & 1 \\ 1 & -1 \end{vmatrix} & -\begin{vmatrix} 1 & 1 \\ -1 & -1 \end{vmatrix} & \begin{vmatrix} 1 & 0 \\ -1 & 1 \end{vmatrix} \\ -\begin{vmatrix} 4 & 0 \\ 1 & -1 \end{vmatrix} & \begin{vmatrix} 1 & 0 \\ -1 & -1 \end{vmatrix} & -\begin{vmatrix} 1 & 4 \\ -1 & 1 \end{vmatrix} \\ \begin{vmatrix} 4 & 0 \\ 0 & 1 \end{vmatrix} & -\begin{vmatrix} 1 & 0 \\ 1 & 1 \end{vmatrix} & \begin{vmatrix} 1 & 4 \\ 1 & 0 \end{vmatrix} \end{pmatrix}^T = \begin{pmatrix} -1 & 0 & 1 \\ 4 & -1 & -5 \\ 4 & -1 & -4 \end{pmatrix}^T$$

$$(2 \ 4 \ 1)$$

$$\text{adj}(A) = \begin{pmatrix} -1 & 4 & 4 \\ 0 & -1 & -1 \\ 1 & -5 & -4 \end{pmatrix}$$

$$A^{-1} = \frac{1}{\det(A)} \cdot \text{adj}(A) = \begin{pmatrix} 1 & -4 & 4 \\ 0 & 1 & 1 \\ -1 & 5 & 4 \end{pmatrix}$$

$$\left(\begin{array}{ccc|c} x_1 & x_2 & x_3 & b_1 \\ x_4 & x_5 & x_6 & b_2 \\ x_4 & x_5 & x_6 & b_3 \end{array} \right) \quad b_1, b_2, b_3 \neq 0$$

neplatí, z. nebo z. v átek se může odečíst,
pokud bude stejný

$$\det \begin{pmatrix} a & b \\ c & d \end{pmatrix} = \det \begin{pmatrix} a-c & b-d \\ c+a & d+b \end{pmatrix}$$

$$ad - bc = (a-c)(d+b) - (c+a)(b-d)$$

$$ad - bc = \underbrace{(ad)} + \underbrace{ab} \underbrace{(-cd)} - bc - cb \underbrace{(+cd)} \underbrace{(-ab)} \underbrace{(+ad)} \\ 2ad - 2bc$$

$$ad - bc \neq 2(ad - bc)$$

$$A = \begin{pmatrix} a & b \\ c & d \end{pmatrix}$$

$$B = \begin{pmatrix} e & f \\ g & h \end{pmatrix}$$

$$ad - bc > 0$$

$$eh - gf = 0 \Rightarrow eh = gf$$

$$\det(A+B) = 0$$

$$\det \begin{pmatrix} a+e & b+f \\ c+g & d+h \end{pmatrix} = 0$$

$$(a+e)(d+h) - (c+g)(b+f) = 0$$

$$\textcircled{ad} + ah + de + \textcircled{eh} = \textcircled{bc} + cf + bg + \textcircled{fg}$$

$$eh = gf$$

$$ad = bc$$

$$ah + de = cf + bg$$

$$ah + de - cf - bg = 0$$

